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QUESTION 1

Consider the following program code: %_Nifty = (one, two, three, four); @NiftyKeys = sort(keys(%_Nifty)); 

foreach(@NiftyKeys) 

{ 

print ($_Nifty{$_} . ); 

} 

What is the result of executing this program code? 

A. The code will output the following: one three 

B. The code will output the following: four two 

C. The code will output the following: two four 

D. The code will output the following: four one three two 

Correct Answer: C 

 

QUESTION 2

Which statement will print the capital attribute of the $kansas object? 

A. print ("capital"=>$kansas); 

B. print {$kansas}=>(capital); 

C. print (capital){"capital"}; 

Correct Answer: D 

 

QUESTION 3

Consider the following program code: 

@arrayA = (10, 20, 30); 

@arrayB = @arrayA; 

$arrayB[1] = 40; 

print $arrayA[1]; 

What is the output of this code? 

A. 10 
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B. 20 

C. 30 

D. 40 

Correct Answer: B 

 

QUESTION 4

Consider the following program code: 

$x = 150; 

$y = "250"; 

if (($x + 100) == $y) { print("1 "); } 

if ("250" == $y) { print("2 "); } 

if ("250" eq $y) { print("3 "); } 

if ($x lt $y) { print("4 "); } 

if ($x ge $y) { print("5 "); } 

What is the result of executing this program code? 

A. The code will output the following: 1 2 3 4 

B. The code will output the following: 1 3 4 

C. The code will output the following: 1 3 5 

D. The code will output the following: 1 2 3 4 5 

Correct Answer: A 

 

QUESTION 5

Which of the following choices demonstrates the correct syntax for creating a hash? 

A. %passwds = ("denise", "robert", "yolanda") => ("pass1", "pass2", "pass3"); 

B. %passwds() = ("denise", "pass1", "robert", "pass2", "yolanda", "pass3"); 

C. %passwds = (denise=> "pass1", robert=> "pass2", yolanda=> "pass3"); 

D. %passwds{3} = ("denise", "robert", "yolanda") => ("pass1", "pass2", "pass3"); 

Correct Answer: C 
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